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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What do you understand by Demography ? Write an 

essay on the nature of demography and its relationship 

with other disciplines ? 

tukafddh ls vki D;k le>rs gSa \ tukafddh dh izd`fr o 

blds vU; ‘kkL=ksa ls lEcU/k ij ,d fucU/k fyf[k,A 

2. Write an essay on the family planning and women 

empowerment programmes in India. 

Hkkjr esa ifjokj fu;kstu dk;ZØe rFkk efgyk l’kDrhdj.k 

ij ,d fucU/k fyf[k;sA 

3. What is Migration ? Give the detailed explanation of 

the factors affecting Migration. 

izoklu D;k gksrk gS \ izoklu ds izHkkodkjh dkjdksa dks 

Li”V djrs gq, budh O;k[;k dhft,A 

4. What do you understand by quality of life of a 

population ? Give the various indices used to measure 

the quality of life. Give the factors affecting the quality 

of life of a population. 

tula[;k dh xq.koŸkk ls vki D;k le>rs gSa \ tula[;k dh 

xq.koŸkk ekius ds lwpdkad crkb;sA tula[;k dh xq.koŸkk ds 

izHkkodkjh dkjdksa ds ckjs esa crkb;sA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Write a note on Malthus theory and explain it with 

reference to India. 

ekYFkl ds fl)kUr dks ifjHkkf”kr djrs gq, Hkkjr ds lUnHkZ 

esa bldh O;k[;k dhft,A 

2. What are the main reasons for population explosion in 

developing countries ? 

fodkl’khy ns’kksa esa tula[;k foLQksV ds D;k dkj.k gSa \ 

3. Write notes on the following : 

(a) Stationary population  

(b) Stable population 

fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 

¼v½ fu’py tula[;k 

¼c½ fLFkj tula[;k 

4. Write a note on Human Resources and its role in 

economics development of a country.  

ekuoh; lalk/kuksa ls vki D;k le>rs gSa \ vkfFkZd fodkl esa 

ekuo lalk/kuksa dh Hkwfedk ij ,d fVIi.kh dhft,A 

5. Define the following : 

(a) Gross Reproduction Rate (GRR)  

(b) Net Reproduction Rate (NRR) 
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fuEufyf[kr dks ifjHkkf”kr dhft, % 

¼v½ dqy iqu#Riknu nj 

¼c½ ‘kq) iqu#Riknu nj 

6. Write a note on characteristics of Urban Life. 

uxjh; thou dh fo’ks”krkvksa ij fopkj izdV dhft,A 

7. Discuss theory of Demographic Transition. 

tukafddh; laØe.k ds fl)kUr ds ckjs esa foLrkj ls crkb;sA 

8. Throw light on the various theories related with 

Internal Migratuen. 

vkarfjd izoklu ls lEcfU/kr izoklu ds fl)kUrksa ij izdk’k 

Mkfy,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

1. 2011 is the 13th National Census. (True/False) 

2011 dh tux.kuk rsjgoha jk”Vªh; tux.kuk gSA  

    ¼lR;@vlR;½ 



 [ 5 ] MAEC–109 

A-53 P. T. O. 

2. According to Malthus, “Population when unchecked 

decreases in geometric ratio”. (True/False) 

ekYFkl ds vuqlkj] ßvfu;fU=r tula[;k T;kferh; nj ls 

?kVrh gSÞA   ¼lR;@vlR;½ 

3. Migrational theory of population was given by Prof. 

John Graunt.  (True/False) 

tula[;k dk izoklh; fl)kUr izks- tkWu xzkmUV us fn;k FkkA  

    ¼lR;@vlR;½ 

4. Indian Census Day is celebrated on 19th February.  

     (True/False) 

Hkkjrh; tux.kuk fnol 19oha Qjojh dks euk;k tkrk gSA  

    ¼lR;@vlR;½ 

5. Family Planning Programme was introduced in 1951.  

     (True/False) 

ifjokj fu;kstu dk;ZØe dh LFkkiuk o”kZ 1951 esa gqbZA  

    ¼lR;@vlR;½ 

Choose the correct alternative. 

lgh fodYi pqfu,A 

6. Population explosion may be attributed to : 

(a) High Birth rate 

(b) Low Death rate  

(c) Difference between High birth rate and low death 

rate 

(d) High Reproduction rate 
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tula[;k foLQksV fdl fLFkfr dks O;Dr djrk gS \ 

¼v½ mPp tUe nj 

¼c½ fuEu e`R;q nj 

¼l½ mPp tUe nj rFkk fuEu e`R;q nj dk vUrj 

¼n½ mPp iztuu nj 

7. In India Census is held every ................ years. 

(a) 5 

(b) 10 

(c) 15 

(d) 1 

Hkkjr esa tux.kuk gj 
--------------------------------

 o”kZ esa gksrh gSA 

¼v½ 5 

¼c½ 10 

¼l½ 15 

¼n½ 1 

8. When did the National Population Policy come into 

effect ? 

(a) 2001 

(b) 2002 

(c) 2000 

(d) 1999 

jk”Vªh; tula[;k uhfr fdl o”kZ esa cukbZ xbZ \ 

¼v½ 2001 

¼c½ 2002 

¼l½ 2000 

¼n½ 1999 
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9. Sex ratio of India according to the 2011 census is : 

(a) 940 females per thousand males 

(b) 960 females per thousand males 

(c) 923 females per thousand males 

(d) 913 females per thousand males 

2011 dh tux.kuk ds vuqlkj Hkkjr dk Çyx vuqikr gS % 

¼v½ 940 fL=;k¡ izfr gtkj iq#”k 

¼c½ 960 fL=;k¡ izfr gtkj iq#”k 

¼l½ 923 fL=;k¡ izfr gtkj iq#”k 

¼n½ 913 fL=;k¡ izfr gtkj iq#”k 

10. For a population to be stationary : 

(a) No of births < No of deaths 

(b) No of births > No of deaths 

(c) No of births = No of deaths 

(d) None of the above 

fu’py tual[;k ds fy, % 

¼v½ tUe dh la[;k < e`R;q dh la[;k 

¼c½ tUe dh la[;k > e`R;q dh la[;k 

¼l½ tUe dh la[;k = e`R;q dh la[;k 

¼n½ buesa ls dksbZ ugha 
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